1 2 3 4
H1 Handle, 2" | | | | |
[ ]
H2 Handle, 2" PN1 PN5 PN16 PN29 PN42
Front Panel LED Indicator Housing profile D-Sub cable, DB25 IDC socket, 26pin Screwlock kit
Wouser LIGO Digi-Key E— | | | |
534-9108 D1100260-v1 350-2127-ND PN17 PN30 PN43
H3 Ferrule, 0.25" Housin? ?rofile ‘D-Sub cable, DB25 | ‘IDC socket, 26pin ‘Screwlock kit |
H4 Ferrule, 0.25" PN2 PN18 PN31 PN44
Rear Panel Housing profile D-Sub cable, DB25 IDC socket, 26pin Screwlock kit
6 Femue o0z LIGO e | o | |
D1100261-v1 PN19 PN32 PN45
H6 Ferrule, 0.25" D-Sub cable, DB25 IDC socket, 26pin Screwlock kit
Frontpanel Express \ | \ \ |
Mouser PN3 PN6 Side profile 1, 150mm PN20 PN33 PN46
534-9121 Top Panel Bottom Panel D-Sub cable, DB25 IDC socket, 26pin Screwlock kit
M1 #6-32 1/4" flat LIGO LIGO \ | \ |
D1100598-v1 D1100598-v1 PN21 PN34 PN47
M2 #6-32 1/4" flat D-Sub cable, DB25 IDC socket, 26pin Screwlock kit
Frontpanel Express \ | \ \ |
M3 #6-32 1/4" flat PN4 PN7 Housing bracket 8 x per unit, natural anodized PN22 PN35 PN48
Side Panel Side Panel D-Sub cable, DB25 IDC socket, 26pin Screwlock kit
M4 #6-32 1/4" flat LIGO LIGO \ | \ |
D1100599-v1 D1100599-v1 PN23 PN36 PN49
M5 #6-32 1/4" flat D-Sub cable, DB25 IDC socket, 26pin Screwlock kit
Frontpanel Express \ | \ |
M6 #6-32 1/4" flat Assembly kit IGP/B6.0-NI DIN 965, nickel-plated PN24 PN37 PN50
D-Sub cable, DB25 IDC socket, 26pin Screwlock kit
McMaster-Carr E3 Standoff, 0.5" H7 #4 screw, 3/8" \ | \ |
91099A205 PN25 PN38 PN51
E4 Standoff, 0.5" H8 #4 screw, 3/8" D-Sub cable, DB25 IDC socket, 26pin Screwlock kit
Frontpanel Express \ | \ \ |
E5 Standoff, 0.5" H9 #4 screw, 3/8" Screw packet M3x6-965-NI DIN 965, nickel-plated®N26 PN39 PN52
D-Sub cable, DB25 IDC socket, 26pin Screwlock kit
Mouser McMaster-Carr \ | \ |
534-1902C 90272A108 PN27 PN40 PN53
D-Sub cable, DB25 IDC socket, 26pin Screwlock kit
Digi-Key Digi-Key Digi-Key
H7VXH-2506G-ND MKC26A-ND A32020-ND

"Controls Concentrator RF Amp Assembly

Size Number Revision

A D1100262

Date: 10/4/2011 [ Sheet 1of 1

File: C:\Users\..\ConcentratorRFAmpAssembly[LBcaBoBy:  Daniel Sigg
1 2 3 ‘ 4




